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Su 08 HOMEWORK #5 solution or UTAH

Ex:
v7=10
Ji
1=4V
asT 1492
Ji
_ 25V
va= 12 15V j)
|
1.8 kQ
1192 692
[
v=1V v2=-3V V

Find the value of current, i1, for each of the above circuits.

SoL'N: The <current for the arcuit oh the \eft
s j\\f&h 'by Ohm's \law:

le 12V - \WWV = l\_f = | A
1\ Il

For +the circuit n +the center, +the voltage
below +he 25V sourde 18 LV -25y=—21V
The vo[%c\cje a\roP across the 1.8k s

—21y - (=32v) = -l8V. By ohm's law, +he
durrent wn  the \.8ke 13 +the uoH:q?e
a\r‘op over the resistance- Vi =)
v
L= -8BV = -loma
.8k S -;er.
|.8ka —'EBU\L‘-’:

v,=—3V



For +the circuit on the rla}\‘t’, we get
the same curvent, I,, f we slide
resistors +hru +he v-source. The ollowing
three <ireutts have the same current, L.

v, =lov Vo =10V V., = \oV
Vi Vi, v
14 4 1SV
\0-15V '_SV
= -8V B
5V G < ~ Lo XN
15V ~-5V-oy
=-S5V
bsL 5V 6 <

c‘,omlo'mlna resistor3, ¢+ |4 = 20,
we have the current 1, from Ohm's law:
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